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MODEL PAPER 1
STD Xl
MAX MARKS 75
ANSWER ALL THE QUESTIONS

1.
The rule f(x) = x° is a bijection if the domain and the co-domain are given by
1l RR (2) R, (0,00) 3y (0,00),R (4) [0,00).[0,00)
2.
If two sets A and B have 17 elements in common, then the number of elements common to the
set A x Hand B = Ais
(1 27 2y 17 (3) 34 (4) insufficient data
3.
The number of students who take both the subjects Mathematics and Chemistry is T0. This
represents 10% of the enrollment in Mathematics and 14% of the enrollment in Chemistry. The
number of students take at least one of these two subjects, is
(1) 1120 (2) 1130 (3) 1100 (4) insufficient data
4,
If two sets A and B have 17 elements in common. then the number of elements common to the
set Ax Band B x Ais
(1) 2'7 2y 17 (3) 34 (4) insufficient data
5.
Which one of the following is a function which is ‘onto” ?
(1) F:R—=R; flx)=x? (2) f:R—ﬂl, »); flx)=x%+1
6.
Which of the following has only one subset?
A) {2} B){! C)id} D) None of these
7.
If @ and b are the roots of the equation #° — kx + 16 = 0 and satisfy a® + b* = 32, then the value
of kis
(1) 10 (2) -8 (3) —88 @) 6
8.
If 3+12,‘12_II3 = ﬁ + I_%, then the value of A + B is
n = @ 3) 3 4 3
9.
The value of log 512 is
(1) 16 (2) 18 3 9 (4 12
10.
If et = 0, then = belongs to
r—2
(1) [2,00) (2} (2,00) (3) (—o0o0,2) ) (-2,00)
11.

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com



www.Padasalai.Net

www.Padasalai.Net www.TrbTnpsc.com

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

The solution set of the following inequality |z — 1| = |z — 3| is

(1) [0,2] (2) (2,00) (3) (0,2 4 (—oo,2)
If-3x+17<-13, then

(A) xe (10, =) (B) xe[10, =)

(C) xe (—e=, 10] (D) xe [-10,10)

(A) xe (=5 (B) x€ (== 3]
(C) xe[5.==) (D) x€ (5. )

r'S
th O
v

In a triangle ABC, sin® A + sin® B + sin® ' = 2, then the triangle is
(1) equilateral triangle (2) isosceles triangle  (3) right triangle (4) scalene triangle.

Let fi(x) % [sink T 4 {f{]l-i':'-J': where r € Kand k = 1. Then fy(r) — falx)

1 1

Ll}_ 2y — (3)

1
)=

1
i 12 6 3

If sin v + cos e = b, then sin 20 i3 equal to
(P -1 i#fb<y2 P -1 ifb=v2 DF-1 ifb>1 B -1 ifb>2

Which of the following is not true?

3 1
i1 )smnd ~31 (2) cosfl = -1 (3) tanfl = 25 (4) secd 1
cosB is equal to
2 2 .2 2 2 2 2,32 2 2,42, .2
cc+ac=b cc+b —a I e i as+b°+c
(Sin 60°+C0s60°)% + (Sin 60° —c0s60°) 2 =
(1) 3 (2) 1 3) 2 (4) o
If sin 6+ cos 8= 1, then the value of sin 26 15 equal to
1
(A) 1 (B) 0 (C) o (D) 2
1 13 T
Ifcosd=— gnd cosB="_0<4. B<—_ then A-B=
7 14 2
i T i 3
@ 5 (b) 3 © 7 d) &
1+34+54+7T+---+ 1Tis equal 1o
i1y 1] {2y 8l (371 (46l
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23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

Number of sides of a polvgon having 44 diagonals is - --- -

(Tyd (24! (311 a4y 22

The number of rectangles that a chessboard has - - -

(1381 (2)9% (331296 (4) 6561

The number of 5 digit numbers all digits of which are odd is

(1325 (2y5% (3 5% (4625

If 10+ 3.4™2+ [ 15 drvisible by 9 for all n € N, then the least positive integral value of k1s

(A) 5 (B)3 (c)7 (D)1
How many different arrangements can be made out of letters of words ENGINEERING
11 11 11!
(1) 11! (2 W (3) 3.0 (4 E

The valueof 2+ 4+ 6+ --- +2nis

{]] :l'll:nz—l} {2} :l'll:nz-l—l} (3} anl'zg—l-]} (4} _n{'n + 1]
The coefficient of = in (2 + 22)1 is
(n ¢ (2) 28 3) °Cg 4) 10Cg2,

The last term in the expansion of I:? +-J'§:F is

(1) 81 (2)27 (31,3 (4)3

If "C,, = "C,. then n 1s equal to
(A) 20 (B) 12 ©) 6 (D) 30

The number of possible outcomes when a coin 1s tossed 6 times 1s

(A) 36 (B) 64 (©) 12 (D) 32

If the lines represented by the equation 6z° + 41xy — Ty* = (0 make angles o and /3 with - axis,
then tan o tan 5 =

5] ] T 7
(1) —= (2) —= (3) —% @ 5

Equation of two parallel straight lines differ by

(1) x term (2) y term (3) constant term (4) xy term
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36.

37.

38.

39.

40.

41.

42.

43.

44,

The area of the triangle formed by the lines ° — 4y” = Dand r = a is

e ? Y
a” (4) —=a”

73

o] —

3
(1) 2a® (2) %{_az (3

The y-intercept of the straight line passing through (1.3} and perpendicular to 2r — 3y + 1 =0 ig

3 0 2 2

Let 4 and B be two symunetric matrices of same order. Then which one of the following
statement is not true?

(1) A4+ Bisasymmetric matrix (2) AB is a symmetric matrix

(3) AB=(BA) 4y A"B=A4B"
i-x -6 3

Aroot of the equation | -6 3-x 3 (=0 is
3 3 —6-x

(1)6 2)3 (3)0 (4)-6
1f.4+f=E _12}111611 (A+I)A—1) is equal to

5 4 e 5 4 5 —4
{1}[3 _J (2) [—E g] (3) [E ‘J 4) [—H _J

8 5 7
The matrix |0 6 4| is

0 0 2
(1) the upper triangular (2) lower triangular
(3) square matrix (4) null matrix

Given that the value of a third order deterninant is 11 then the value of the determinant formed
by the respective co-factors as its elements will be

(1) 11 (2)121 (3) 1331 (4)0
a-b-c 2a 2a
The matrix 2b b-c—a ?b 1s singular 1f
2c Ic c—a—-b
(a)a-b=20 b)a+b=20
(a+b+c=0 da=0

x+1 x+3 x+4
x+4 x+6 x+8|=_..
x+8 x+10 x+14

(a) 2 (b) -2 (c) 4 (d) -4
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45.

46.

47.

48.

49.

50.

51.

52.

53.

54.

3x—8 3 3

3 3x-8 3 (=0, then x=__.

3 3 3x—8
@3 ¥ 03Y o
If E=f+}'+kﬂ, 5=2§+xf+§. E=f—}+4kﬂ and - (b &) =70 . then x is equal to
(1) 5 ()7 (3) 26 4) 10
If the projection of 55—}—33.: on the vector f+3f+ﬂ% is same as the projection of
f+3j+fi‘.knnn5f—f—3.%._ then A is equal to
(1)+4 ) +3 (3)%5 (4) +1
If the points whose position vectors 10i +3/. 12i —5; and ai +11; are collinear then a is
equal to
(e (2)3 (3)5 (4)8
If |d=13.|b|=5and G-b = 60° then |axb| is
(1) 15 (2) 35 (3) 45 )25
If G is the centriod of a triangle ABC and G’ is the centroid of triangle A'5'C’ then

Ad" + BB +CC' =
(1) GG~ (2)3GG" (3) 2GG~ (4) 3GG"
&= _
= X
a b a
(1) log ab (2 log | — (3) log —] 4 —
b d b

If im 22X _ 4 | then the value of p is

Tl m3x
(6 (29 (3)12 (44

lim lﬁ +i,+i,,+...+ n ]is

noon o on "
M5 @0 (31 ) =
3 . _|2x=3] .
At x= 2 the function f{x)= T3 is
(1) continuous (2) disconfimuons (3) differentiable (4) non-zero
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is

The function fix)= | X

i1} continuous at x=0
(2} discontinuous at x =0
(3) not continuous from the right at x=0

(4) not continuous from the left at x=0

55.
2
The function [ 1_1'-]=,,J—+1 is continuous at all points of K except at
—=3xr+2
(1) x=1 (2) x=2 (3 x=12 (4) r=-1-2
56.
If }-'=L._ then E 15
a-z ay
(D) (a—z)* (2) «(z—-a)’ (3) (z+a) - 4) «(z+a)
57.
x+1, when x<2
If = then F'(2) 1
IEf@) 2x—-1 when x22 ° 7@ s
(10 1 (3)2 (4) does not exist
58.
a —b, —lex<l
If f(x)=4 1 15 differentiable at x = 1. then
—_—. elsewhere
| x|
1, -3 -1 1 1,3
a=2.5=-"" @a="5 b= @) a=—. b=—" @#a=7. b=3
59.
If fix)=x+2, thenf"(f(x))atx=41s
(1)8 21 (3) 4 )5
60.
The derivative of vﬂx.]:_‘l.'z |‘l.| at x=0 is
(1)0 2) -1 (3) 2 41
61.
ff"r‘dtis
(1) Wx1-e")+c ) 2x (e -1 +c
(3) 2e" (1-x) +¢ 4) 2e" (x-D+c
62.
[I:m'l 1-cos2x s
- \!1+cos 2x
s , x x
(1) x" +¢ (2) 2x" +¢ (3) ?+€ 4 _?_”
63.
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64.

65.

66.

67.

68.

69.

70.

71.

Jf cosx dr is

(1) x'sinx+2xcosx—2sinx+c (2) X’ sinx—2xcosx—2sinx+c
(3) —x*sinx+2xcosx 4 2sinx+¢ (4) —x*sinx—2xcosx+2sinx+c
dax
I T 15
e =1
(1} log|e' |—log|e" —1|+c (2) log|e’ |+log| e —1|+¢
(3) bogle"—1|-log|e" [+ (4) log|e” +1|—log|e” [+
sin® x —cos® x )
—————— dxis
- 1-2sin” xecos® x
1. 1. 1 | S
(1) Es.m?x+f (2) —sin Ix+c (3) Ecus 2x+c 4 —ECOSEI+£‘

I 1 dr=
J 3+ 4x
(1) %»...'3—4_1' +C (2) %logﬂ'_%——”lx +c (3) 243+4x +c (4} —%1.'3—4.1' +c

I‘“E" .
Jix+1 ) -
1 x-1} (x-1F .. o
(1) —| — | +c (2) x—2loglx+1)+¢ (3 - loglv+1l+c (4) x+2loglx+1)+¢
21 x+1) 2

If P(4)=035, P(B)=0.73 and Pl4~B)=0.14. Then P~ 3=
(1) 0.94 (2)0.06 (3)0.86 (4)0.14

It is given that the events 4 and B are such that P(4) = i P(A4/B) 2% and

[

P(B/A)==. Then P(B)is

(I V]

1 1 2 1
(1) P (2) 3 3) 3 (4) B

Given P(4)=050, P(B)=040 and P(4~5)=020 then P4/ )=
(1) 0.50 (2)0.40 (3) 0.70 (4) 0.10

An urn contains 10 white and 10 black balls. While another urn contains 3 white and 10

black balls. One urn is chosen at random and a ball is drawn from it. The probability that it
is white, i=s

Bl
12

5 3 4
£ ) Ay — 4y —
(1) 11 (2) (3) = (4) 7
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In a certain college 4% of the boys and 1% of the girls are taller than 1.8 meter. Further 60%
of the students are girls. If a student is selected at random and is taller than 1.8 meters, then
the probability that the student is a girl is

2 3 5 7
1) — ) — 3)— 4 —
Ok @ 3 Qs ) 3
72.
If two events 4 and B are independent such that P(4)=035 and P(4UB)=00,
then P(B) is
5 1 4 7
1) — 2 — 3 — 4) —
D3 @ 5 G 3 & 3

73.

A bag contains 6 green, 2 white, and 7 black balls. If two balls are drawn simmltaneously,
then the probability that both are different colours is

68 71 64 73
M 105 D105 )05 D105

74.

A letter is taken at random from the letters of the word “ASSISTANT and another letter is
taken at random from the letters of the word “STATISTICS’. The probability that the selected
letters are the same is

7 17 20 19
(1) e 2) 30 (3) % ) %
75.
m
]ft‘d.llﬂ.’=m ilﬂdtﬂ-ﬂ.ﬂ=m then o + 8 =
3 3;
@y O®-F ©F @
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MODEL PAPER 2

STD XI MAX MARKS 75
ANSWER ALL THE QUESTIONS
1.
Let f : R — R be defined by f(x) = 1 — |x|. Then the range of f is
(1 R (2) (1,00) (3) (—1,00) 4y (—o0.1]
2.
Let X = {1,2,3,4},Y = {a,b,c,d}and f = {(1,a),(4,b),(2,¢),(3,d),(2,d)}. Then f is
(1) an one-to-one function {2) an onto function
(3) a function which is not one-to-one  (4) not a function
3.
The function f : [0, 27] — [—1, 1] defined by f(r) = sinx is
(1) one-to-one (2) onto (3) bijection (4) cannot be defined
4,
Out of 2000 emplovees in an oftice 48% preterred Coffee (c), 54% liked (T), 64% used to
smoke (S). Out of the total 28% used C and T, 32% used T and S and 30% preferred C and
S, only 6% did none of these. The number having all the three is
(a) 360 (b) 300 (c) 380 (d) none of these
5.
Which of the diagram is graph of a function
Y| o Y Y Y
(a) |® ® e (b) () (d) | —
. e o /
™ 'y x b
6.
Given that x, y and b are real numbers z < y,b = 0, then
(1) z=b<yb (2) zb=>yb (3) zb<yb (4) fE%
7.
The functi R — IR is defined by f(x) (£2+msrj(l+m4}+ =
: r) = - - €
< Tunciion _f — 15 denne W _ {_1" — S,i]_]_ I}LQI‘ N _‘_]_r‘aj 15
(1) an odd function (2) mneither an odd function nor an even function
(3) aneven function (4) both odd function and even function.
8.
The solution of 5 — 1 < 24 and bx +1 = —24 is
() (4,5) (2) (—5,—4) (3) (-5.5) (4) (—5.4)
9.
If @ and b are the roots of the equation x? — kx + 16 = 0 and satisfy a? + b? = 32, then the value
of k is
(1) 10 (2) -8 (3) —88 4) 6
10.
If 3:2—12_12 = 311: + rfl, then the value of A + B is
mn = 2 = 3) 3 @ 3
11.
If sin v + cos @ = b, then sin 2« is equal to
(OB —1,ifb<v2 @V —-1,ifb>v2 (b -1, ifb>1 Db —1,ifb> 2
12.
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

If f(#) = |sinfl| + |cosd|.H € I, then f(#) is in the interval

(1) [0, 2] @ [1.v3] (3) [1.2] ) [0, 1]
. 5 sin(a + 5) .
If & and 3 are the roots of tan” r +atanx + b = 0, then ——— is equal to
sin o sin 3
b a a b
il 32 ND NS
(1) - 2 (3 5 4) -
1 B '3 a
cos 800 sin 80°
(1) V2 (2) V3 (3)2 (4) 4

The product of 5 (s—a) (s-0) (5—¢) is equal to

(1) A (2) A? (3) 2 @2
5
1 i . .
ﬁ of a comyplete rotation in clockowise is
(1) -I° (2) =360° (3) —00° 4

The sum of the digits at the 10" place of all numbers formed with the help of 2. 4. 5. 7 taken all
at a time is

(1y432 (23108 (3)36 (418

In 3 fingers, the number of ways four rings can be wom is -« -« -+ - Ways.
(1)4* —1 (233" (3)68 (4064

There are 10 points in a plane and 4 of them are collinear. The number of straight lines joining
any two points is

(145 ()40 (3)39  (4) 38,

If 10 lines are drawn in a plane such that no two of them are parallel and no three are concurrent,
then the total number of point of intersection are

(1145 (2340 (H100  (4) 210

If 5 =720,C,, then the value of r is
(1) 6 ()5 (34 47
The mumber of diagonals that can be drawn by joining the vertices of an octagon is

(1) 28 (2) 48 (3) 20 424

The valueof 1 — 2 (3) + 3 (3) — 1 (3) +--- is

1
() log () 2) 32log(3) (3) Zlog(3) (4) 2log (3).

The sum up to n terms of the series V24 VB 4+ IR+ 324+ .- is

(1 =2zt 2) 2n(n+1) (3) =zt 4 1.
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26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36.

If 5, denotes the sum of n terms of an AP whose common difference is d, the value of
S, —25, 1+ 5, qis

(1) d (2) 2d (3) 4d 4 4.

If a is the arithmetic mean and g is the geometric mean of two numbers, then

() a<g (2) azg (3) a=yg 4) az=g

o

The total mumber of terms in the expansion of |:{f‘ +5 }'] is
(n1 (2) 36 (3) 37 (4)35
Sum of the binomial coefficients is

(1) 2n 2 n? (3) 2" (4) n+17

The equation of the locus of the point whose distance from y-axis is half the distance from origin is
(Hz*+32=0C (2) 2 =32 =0 (3) 322+ =0 4) 32 —y* =10
The slope of the line which makes an angle 45° with the line 37 — y = —5 are
1 1

1,1 2) -, -2 3) 1, = 4) 2, -1
(1) (2) 5 (3) 5 4 3
A line perpendicular to the line 3r — y = 0 forms a triangle with the coordinate axes. If the area
of the triangle is 5 sq. units, then its equation is

(1) z+5y+£5v2=0 (2) z—5y+£5v2=0 (3) 5z+y+5v2=0 @) Sz—y+5/2=0
The image of the point (2, 3) in the line y = —x is

(1) (=3, -2) (2) (-3,2) (3) (-2,-3) 4) (3,2)
The condition for ax® + 2/ +by? +2gr+2fy+c =0 to represent a pair of straight lines is
(1) abec+2 feh fbfz f(.rgz —ch® =0 (2) abc—2 fegh 7(,32 fbfz —ch? =0
(3) abc+2 feh —ah® —bg2 —c‘f2 =0 (4) abc+2 feh —qf2 —bgz —ch?>=0
The graph of xv =0 is
(1) a point (2) a line
(3) a pair of intersecting lines (4) a pair of parallel lines

A 1 5

If4d= . 2l then for what value of 4.4 =07
(1) 0 2) +1 3)-1 (4) 1

a x
If 4 :[ ] and if xy=1. then det (4 4") is equal to
v oa

(1) (a—1)° (2) (a* +1) (3) a* -1 @) (a* 1)
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37.

38.

39.

40.

41.

42.

43.

44,

45.

a b ¢ ka kb ke
If A=|{x v z|. then |kx kv kz| is
r g r kp kg kv
(1) A (2) kA (3) 3kA 4y BE°A

a 2b 2c
If a=b.b.csatisty|3 b ¢ |=0. then abc =
4 a b

(1) a+b+c (2)0 (3) b (4) ab+bc

X+a b c

The factor of the determinant | « x+b c |is
¢l b X+c

(1) x (2) x+b 3) x+c 4) x—a+b+c

[t all the three rows are identical in a determinant A on putting x=a then the factor of A is

(1) x—a (2) x+a B) (x—af @) (x+a)f

Given that the value of a third order determinant is 11 then the value of the determinant formed
by the respective co-factors as its elements will be
(H11 (2)121 (3) 1331 40

If @ +2b and 3G +mb are parallel. then the value of m 1s

1 1
(13 @ - (3)6 “4) —
3 6
The vectors @ —b. b —¢. ¢ —a are
(1) parallel to each other (2) unit vectors
(3) mutually perpendicular vectors (4) coplanar vectors.

. 9G+7b . » o L .
Itr = 16 then the point 2 whose position vector 7 divides the line joining the points
with position vectors @ and b in the ratio
(1) 7 : 9 internally (2) 9 : 7 internally
(3) 9 : 7 externally (4) 7 : 9 externally

The value of ¢ (0%) for which the vectors @ = (sin ij + (cos 9)}' and b =i— \G} +2k

are perpendicular, is equal to

Mm% @ % ® 5 “ 2
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46.

Which of the tollowing vectors has the same direction as the vector 7 2
(1) -7 +2; ()27 +4) (3) =37 +6 @) 3i -6
47.

Let a.b be the vectors AB. BC determined by two adjacent sides of regular hexagon

ABCDEF. The vector represented by EF is

) a-b @ a+b (3)2a @ -b
48.
lim sin x
x—p00 X
(1 (20 (3) oo (4) —oo
49,
R ) 3x 0=x=<1
Let the function f be defined by f{x)= . then
—3x+5 1l<x=2
(1) 11'1111_}’(.1.') =1 (2) linllf(x) =3
(3) 11'1111 Fflx)=2 (4) li1111 f(x) does not exist
50.
: ( 1 2 3 7 J .
lim| —+—+—+...+— |1is
L ) e - M-
1
(= @o 31 (4) oo
51.
3 . 2x—3]| .
At x= 5 the function f(x)= | - 1s
(1) continuous (2) discontinuous (3) differentiable (4) non-zero
52. _
sinfx-2) cen
The function f(x)={ x-2 ' is discontinuous at
0 x=2
(1) x=0 (2) x=-1 (3) x=-2 (4) x=2
53.

The function f{:x): | .\-| is
(1) continuous at x=0
(2) discontinuous at x=0
(3) not continuous from the right at x =0
(4) not continuous from the left at x=0
54.
The function y=tanx is continous at

. ; T _ 37 e
(1) x=0 (2}:(:5 (3) x= > (4) .1._—5
55.
If v= ! . then = is
a—z v
(1) (a—2)* 2) ~(z-a)’ B3) (z+a) " @ —(z+a)’

56.
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If v= (1_;)_ . then @ is
X dx
2 2 2 2 2 2 2 2
1) —+— 2) —+— 3))——— 4 ——+—
(1) RERL (2) ot (3) RER “) RER
57.
~ R 2 . _ : f(‘\)_‘ﬁ_ 1 Y
If g(x)=(x"+2x+3)f(x)and f(0)=5 and ].Lll{;li—il. then g'(0) is
x— ..1[-
(1) 20 (2) 14 (3) 18 (4)12
58.
The number of points in R in which the function f(x)=|x—1| + |x—3|+sinx 1is not
differentiable, is
(1)3 (22 (3)1 @4
59.
_ ) 2 x=1 :
The function /{¥)= *L ‘ ¢~ isnot ditterentiable at
(1) x=0 (2) x=-1 (3) x=1 (4) x=-2
60.
The derivative of f (x}: x? | x|at x=0is
(1O (2) -1 (3) —2 @1
61.
C oy 0 if x=0
Rf'(0) tor the function flx)= ( is
/(o) C Sx) 1"' i x>0
(1)1 (2)0 3) —1 (4)2
62.
The gradient (slope) of a curve at any point (x. ) 1s o ; . If the curve passes through the
point (2. 7). then the equation of the curve is
4 4 5 5
(1) y=x+—+3 (2) v=x+—+4 (3) y=x"+3x+4 (4) v=x"-3x+6
X X
63.
x> +cos’ x 2 .
J.jicosec xdx 1s
x +1
(1) cotx+sin' x+¢ (2) —cotx+tan ' x+c
(3) —tanx+cot ' x+c (4) —cotx —tan " x+¢
64.
|' Sefi_ X dx
Y tan” x —1
1—tan > an
(1) Zlogi—\*—c (2) log‘w +c
1+ tan x 1—tan x
Llog tan x + 1 e l1 tan x—1
€ 2 tan x —1 (4)50g tan x+1 e
65.
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J.Sill‘\"l_'ﬂr.‘\' 13
(1) 2(—v{n_'cos\";+sin\f1_')+c (2) 2[—V’;cosv{n_'—si11\:’;]+c
(3) 2(—v"n._'sinu";—c05\,"1_')+c (4) 3[—v‘{;si11x/1_'+c05\1{1_')+c

66.
].ssin2 xdy =
sin® x cosZ x 1 sin2x 1 )
(L) 3 +c (2) — +c (3) 51X +c (4) E[x+sn12x]+c
67.
lsin TxcosSx dr =
|
(1) %cos?\‘ sinSx+c¢ (2) _%|:cos;22x 405 2.1(]'_
3) _l[cos 6x +cosx} . @) l[cosllr ® cos Zx:|+ c
2 6 2 12 2
68.
e.\'
J - dx =
et +1
s \.2
x -
(1) %.‘\‘+C (2) % 18 - ‘ +c (3) logLe"—+]]+c (4) x+e* +c
<\ 1+e” )
69.

1 1 - 1
Let 4 and B be two events such thatP(A UB) =%’ P(4ANB)= 1 andP(A) Sar Then
the events 4 and B are

(1) Equally likely but not independent

(3) Independent and equally likely
70.

(2) Independent but not equally likely

(4) Mutually inclusive and dependent

Abag contains 5 white and 3 black balls. Five balls are drawn successively without replacement.
The probability that they are alternately of different colours is

3 5 | 9
P 2) 2 3) — 4 =
7 @ O @ -
71.
A number x 1s chosen at random from the first 100 natural numbers. Let 4 be the event of
numbers which satisfies W 20, then P(4) 1is
X7
(1)0.20 (2)0.51 (3)0.71 (4)0.70
72.

If @ and b are chosen randomly from the set {L 2, 3.4} with replacement. then the probability
of the real roots of the equation x” +ax+b=0is

5 7 11
(1) e (2) e (3) T (4) T
73.

(%]
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It A and B are two events such that P(A): 0.16, P[B]: 0.24 and P(AmB)z 0.11, then
the probability of obtaining only one of the two events is

(1)0.29 (2)0.71 (3) 0.82 4)0.18
74.
Three coins are tossed. The probability of getting atleast two heads is
L3 7 1 1
M g @5 @3 @ 5
75.

An urn contains 10 white and 10 black balls. While another urn contains 5 white and 10

black balls. One urn is chosen at random and a ball is drawn from it. The probability that it
is white, is

1 =) 2 = 3 2 1 2
M5 @35 OF @) 5
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MODEL PAPER 3

STD XI MAX MARKS 75
ANSWER ALL THE QUESTIONS
1.
Let I be the universal relation on a set X with more than one element. Then F is
(1) not reflexive (2) not symmetric (3) transitive (4) none of the above
2.
For non-empty sets A and B, if A C Bthen (A x B) N (B x A) is equal to
1y AnkB 2) A=x A (3) Bx D (4) none of these.
3.
Ifn(A) =2and n(BUC) =3, thenn|[(A x B) U (A x C)] is
1y 28 (2) 32 (3) 6 4 5
4.
The number of students who take both the subjects Mathematics and Chemistry is 70. This
represents 10% of the enrollment in Mathematics and 14% of the enrollment in Chemistry. The
number of students take at least one of these two subjects, is
(1) 1120 (2) 1130 (3) 1100 (4) insufficient data
5.
Identify the correct statement
(1) The set of real numbers is a closed set
(2) The set of all non-negative real numbers is represented by {0. JZ}
(3) The set [3, 7] indicates the set of all natural numbers between 3 and 7
(4) (2, 3) is a subset of [2, 3].
6.
Identify the correct statements of the following
(i) a relation is a function
(ii) a function is a relation
(iii) “a function which is not a relation’ is not possible
(iv) “arelation which is not a function” is possible
(1) (ii), (iii) and (iv)  (2) (ii) and ({ii) (3) (iii) and (iv) (4) all
7.
kx 2 .
If 1 2)(z —1) =733 + p— l,thenthc value of k is
1 1 2) 2 3) 3 4 4
8.
The value of logg 11log,; 13log,; 15log,; 27logy, 81is
(1 1 (2) 2 3) 3 4) 4
9.
The number of real roots of (x +3)* + (z + 5)* = 16 is
1 4 2 2 (3) 3 4 0
10.
If |z + 2| < 9, then x belongs to
11.
jz — 2|
If 5 = 0, then = belongs to
(1) [2,00) 2 (2,00) 3) (—o=.2) (4) (—2,00)
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

cosbr + 6eosdxr + 15cos2x + 10 AT
coshr + 5ecos3r + 10cosx el

(1) cos’z (2) l4cosz (3) cos 3z (4) cos2x

A wheel is spinning at 2 radians/second. How many seconds will it take to make 10 complete
revolutions?

(1) 107 seconds (2) 207 seconds (3) 57 seconds (4) 157 seconds
1—Cos15"
The value of LSO =
1+ Cos15
,( 15 o1
(1) Sec30° (2) tan ? 3) tan30° (4) tan 75
In a triangle ABC if Cot (A+B) =1 thentan Cis
(1) o (2) 1 (3) © (4) -1
If Sin A =1 then Sin 2A is equal to
(1) 2 (2)1 Q)0 4 -1

The value of Sin 54° is

1-+/5 -1 J5+1 @ 51
4 4 4

) ®)
4

M

1+3+5+7T+---+ 1T isequal to
(1) 101 (2) 81 (371 (461

In an examination there are three multiple choice questions and each question has 5 choices .
Number of ways in which a student can fail to get all answer correct is

(13125 (2124 (3164 (4)63

In an examination there are three multiple choice questions and each question has 5 choices .
Number of ways in which a student can fail to get all answer correct is

(1125 (2124 (3red (463

~ (n4+5) F1I(m—1) 4 (4o -
If 45 Py = (—5—2) ") P, then the value of n are

ily7and 11 (2y6and 7 (3)2and 11 (4) 2 and 6.

The number of ways in which a host lady invite for a party of 8 out of 12 people of whom two do
not want to attend the party together is

(2x1C4+9C; QNC,+9¢C; 3RO, -10C; (H10C; + 2

In a plane there are 10 points are there out of which 4 points are collinear, then the number of
triangles formed is

(110 20y (3120 (o 116

The value of o + &+ + & + - -+ is
(1 =H (2) 2 (@) =02 @ &l
2e Je 5. e
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26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

36

The value of the series % - % - % + % + .. 18

(1) 14 (2) 7 (3) 4 (4) 6.

The remainder when 389 is divided by 13 is

(1 12 2) 1 3) 11 (4) 3.
If (1+22)°(1+2)" = a0 + a1z + asz® + - - - + 2" and if ag, a1, az are in AP, then 7 is
(1 1 2y 2 (3) 3 4) 4.
The coefficient of 2% in (2 + 22)'7 is
() "Cg (2) 2° (3) 'C (4) 19Cq 2"
It o, b, ¢ are in AP, as well az in G.F. then
1ya=b=c (DYa=b=c (3 a=b=c 4y a=b=c
The AM., G.M. and HM. between two positive numbers a and b are equal then
1y a=k (2) ab=1 3ha=b i4) a<h
The area of the triangle formed by the lines 2° — 4y = D and r = a is
3 1. 2
(1) 2a* (2) %az (3) ﬁaz (4) ﬁ«.12
.. . T y .
The length of L from the origin to the line 3 1° 1.1is
11 5 12 5
- 7 3y = el
(1 3 @ 5 (3) 5 (4) 12

Equation of the straight line perpendicular to the linex —y+5 = (0, through the point of intersection
the y-axis and the given line

(D zr—y—5=0 ) z+y—5=0 (B3) z+y+5=0 4 z+y+10=0

Equation of the straight line that forms an isosceles triangle with coordinate axes in the I-quadrant

with perimeter 4 + 24/2 is

(1) r+y+2=0 2) r+y—2=0 B)r+y—v2=0 @ z+y++2=0

Which of the following equation is the locus of (at?, 2at)
T T .
{IIE—;—Q=1 (Z}EJF%:l (3) 2% +y* = a’ (4) 4* = daz

. If the equation of the straight lineis y = J3x +4, then the angle made by the

Straight line with the positive direction of x axis is
1) 45° 2) 30° 3) 60° 4) 90°
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3

~

38

. If the straight line a;x+b;y+c=0 and a)x+byy+c, = 0 are perpendicular , then
b b b
) R N ) W A R ) P 'y S ) R R
a, 2 a, 2 a, b, ¢

. Which of the following is a parallel line to 3x+4y+5=0 ?
1) 4x+3y+6=0 2) 3x-4y+6=0 3) 4x-3y+9=0 4) 3x +4y+6=0

39.

1 ) . .
If a, :5(33 —2j)and 4 =[a,],., 1s

40.

41.

42.

43,

44,

45,

3 2 1 2 2 1
S 2|2 2 G)1 1 @l 2 2
—— 1 2 1 2 2 1 2
2
]. - ol 1 . 5 3 -
If 4= [7 1]. B =|:b J and (A+ B)" = 4" + B~. then the values of v and b are
(1) a=4.b=1 (2) a=1.b=4 (3Ya=0.b=4 (4 a=2.b=4
x—2 T+x
The value of x. for which the matrix 4= [ '1+ 3} is singular is
e e
(19 (2)8 (3)7 (4) 6
3—x -6 3
A root of the equation | -6 3—Xx 3 |=0 is
3 3 —6—X
(Lo 2)3 (3)0 EYE
1 2 4 2 4 2
If A= 3 1 OlandB=|6 2 0|. then B is given by
2 4 2 -2 4 8
(1) B=44 (2) B=—44 (3) B=—4 (4) B=064
a 0 0
The value of the determinant |0 b 0| is
0 0 c
(i) abc (i) 0 (iii) a%b?c? (iv) -abc
al b1 Cl
If A=la, b, c,|andA;B1,Cs....... Are the cofactors of a;,bi,Ci.......
a3 b3 C3
Then a;Ax+biB2+ciC; is equal to
(i) A (i) O (iii) -A (iv) A?

46.
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47.

48.

49.

50.

51.

52.

53.

54.

55.

56.

A vector OP makes 60° and 45° with the positive direction of the x and vy axes respectively.

Then the angle between OP and the z-axis is

(1) 45° (2) 60° (3) 90° (4) 30°
One of the diagonals of parallelogram 4BCD with
G and b as adjacent sides is @ +b . The other diagonal BD is
(1) @-b 2 b—-a () @+b (4) ”Jj’
Two vertices of a triangle have position vectors 3i + 4] — 4k and 2 + 3] +4k. If the position
vector of the centroid is 7 + 2}' +3k, then the position vector of the third vertex is
(1) =27 — j+9F (2) —2i—j—6k  (3)2i—j+6k (4) —2i + j+6k
Vectors @ and & are inclined at an angle 8 =120°.1If |G |=1.| 5 |=2 . then [(a +3b )x(3a ~b i
1s equal to
(1) 225 (2) 275 (3)325 (4) 300
If 4 =1 +_}'+F«:*. 5=_f+1;}'+£:. ¢ zf—j+4ﬂ: andﬁ-(EXE)Z 70 . then x is equal to
(1) 5 (2)7 (3) 26 (4) 10
. a/l—cos2x
limg =
(1o (2)1 (3) NG (4) does not exist
. -4 2747
lim 5 =
x—0 X
(1)2log?2 (2) 2(log2)* (3)log 2 (4)3log2
. xe" —sinx
lim——m is
x— X
(11 (2)2 (3)3 “4)0
. 5°-6"
lim
x—0 X =
6 5 1 1
1) log = 2) log— 3) log= 4) log—
) log c ) log 5 ) log 5 ) log c
1
i X = 2
leirg (1+x)x =7
1
1)0 2) e 3) — 4) 1
e
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. fanx _ ¥
lim———=
—0 tanx —x
=l
1)1 @e OF @0
57.
'1:2__1 -1
The function f{x)=1{ 1* +1 e is not defined for x =—1. The value of f(—1) so that the
P x=-1
function extended by this value is continuous is
2 2
03 (2 — (3)1 @0
3 3
58.
If v = lsf‘- u = En;g =+ 5. then @ is
4 3 ax
(1) ——x2(2x* +15)° (2) 2 x(2x° +5)°
27 27
(3 % x*(2x° +15)° () —2—2? x(2x7 + 5)°
59.
If f(x)=xtan" x. then /(1) is
W 1+ @) 2+2 3 >-% ()2
- 4 3y ===
4 2 4 2 4
60.
The differential coefficient of log,, x with respect to log_ 10 is
(1 (2) —(log,, x*  (3) (log, 10)* @ =
100
61.
It is given that f '(a) exists. then 1i111M is
X—a .‘\'— a
1) fla)y=af'la)  (2) f'(a) (3) =S 'a) @) fla)+af (a)
62.

2a—x. for —a<x<a , NN
If f(x)= . then which one of the following is true?
3x—2a for x=2a

(1) flx) 1s not differentiable at x = ¢ (2) fix) 1s discontinuous at x =a
(3) fix) 1s continuous for all x in B (4) fix) 1s differentiable for all x> a
63.
1
3 1
) If J- = dx =k (3*) +c, then the value of k is
i 1 1
1)log 3 2) —log3 3) — 4
(1) log 3 (2) —log (3) log3 (4) log 3

64.

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com



www.Padasalai.Net

www.Padasalai.Net

www.TrbTnpsc.com

dv 1s

J- sin® x —cos® x
1—2sin® xcos® x
1
(1) —sin2x+c

2
65.
|- dx

is

x

< e —1
(1) logle™ |—log|e™—1|+c
(3) log|e” —1|—log|e” |+c

66.
| J- x+2

———dx is
=1
(1) Vx* —1-2log|x++/x* —1|+¢c

(3) 2log |x++/x"—1|—sin"'x+c¢
67.

*

1 .
(2) —551n2x+c (3)

cos2x+c (4) —écosix+c‘

I\.ll|»—L

(2) log|e® | +log|le” —1]|+c
(4) log|e” +1|—log|e” |+c

(2) sinx—2log|x++/x"—1|+¢c
(4) Nxt—1+2log | x++/x7 =1 |+c

.
dr=
J 1+x°
(1) tan™L v+ (2 %log{ 1+x2 ]+t‘ (3 ]||:|g|_.fl+:r2 .]+|." i4) logx+c
68.
I e’ dr =
J e+l
. \2
(1) l.‘f+c (2} 1f_e I +c (3 logi e* +1 |—f‘ 4} x+e* +c
2 211+ | : :
69.
rsm Txcossxy dx=
1 e _ 1| eosl2x  coslx |
[I}Ecos?nsmn +C {2 2[ 12 + > } c
(3) 1 cusﬁ.&'_'_cgs_‘l_ . (@) 1 c0512.1'+c0521' )
2| 2| 12 2
70.
A. B. and C try to hit a target simultaneously but independently. Their respective probabilities
3 5
of hitting the target are > . L ; E . The probability that the target is hit by 4 or B but not by C is
21 7 9 7
1) — 2 3) — 4] —
m = @ - ® = @ 3
71.
A matrix is chosen at random from a set of all matrices of order 2. with elements 0 or 1 only.
The probability that the determinant of the matrix chosen is non zero will be
3 3 1 5
(1) — 2) — 3) — (4) =
)= @ 3 oF )~
72.
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An urn contains 5 red and 5 black balls. A ball is drawn at random. its colour is noted and is
returned to the uwrn. Moreover. 2 additional balls of the colour drawn are put in the urn and
then a ball is drawn at random. The probability that the second ball drawn is red will be

5 1 7 1
1) = 2) = 3) = 4) =
(1) > (2 3 (3) 3 (4) 1
73.
The probability of two events 4 and B are 0.3 and 0.6 respectively. The probability that both
A and B occur simultaneously is 0.18. The probability that neither 4 nor B occurs is
(1)0.1 (2) 0.72 (3) 0.42 (4) 0.28

74,

X speaks truth in 95 percent of cases and Y in 80 percent of cases. The percentage of cases
they likely to contradict each other in stating same fact is

(1) 14% (2)86% (3) 23% (4)85.5%

75. )
If (1. 2. 4) and (2. — 34 — 3) are the initial and terminal points of the vector 7 + 5 — 7k . then
the value of / is equal to

)< @ - OFs @

s | =

|
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STD XI

MODEL PAPER 4
MAX MARKS 75

ANSWER ALL THE QUESTIONS

1.

Let B be the set of all real numbers. Consider the following subsets of the plane B =< R:
S={(zr,y):y=r+1 and 0 <=z <2} and T = {(z,y) : * — y is an integer }

Then which of the following is true?

(1) T is an equivalence relation but S is not an equivalence relation.
(2) Neither S nor T is an equivalence relation

(3) Both 5 and 7" are equivalence relation

(4) S is an equivalence relation but T is not an equivalence relation.

The relation /? defined on a set A — {0, —1, 1,2} by xRy if |2 + y”| < 2, then which one of the
following is true?

(1) R={(0,0),(0.-1),(0.1).(—1,0),(—1.1).(1,2),(1.0)}
(2) R~! = {(0.0),(0, —1).(0, 1), (—1, 0}, (1,0}}

(3) Domain of 7 is{0,—1,1,2}

(4) Range of I?is {0, —1,1}

fA={(r.y):y=€e", € Rland B={(r.,y):y=e ",z € R}thenn(A N B) is
(1) Infinity 2) 0 3 1 @ 2

The function f : B — R is defined by f{x) = sinx + cosx is

(1) an odd function

(2) neither an odd function nor an even function
(3) an even function

(4) both odd function and even function.

Let X = {1,2.3,4}.Y = {a.b.c,d} and f = {(1.a). (4.b). (2.¢)., (3.d), (2.d)}. Then f is

(1) an one-to-one function {2) an onto function
(3) a function which is not one-to-one  (4) not a function

Let A and BB be subsets of the universal set I, the set of natural numbers. Then A"U[(AMB) U B’
is

(1 A 2) A (3) B 4) N

Which of the following is a function which is not one-to-one?
(1) F:R—>R; flx)=x+1 2) F:R>R; flx)=x2+1
3) fFR— {1. —1} ; f(x:]:x—l 4 fF:R—>R; f(x]:—.\'

The inverse of f:R—>R™ ; f(.\‘)z x2 is
(1) not onto (2) not one-to-one
(3) not onto and not one-to-one (4) not at all a function
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Identify the correct statements

(i) a constant function is a polynomial function.

(ii) a polynomial tunction is a quadratic function.

(iii) for linear function, inverse always exists.

(iv) A constant function is one-to-one only if the domain is a singleton set.

(1) (i) and (iii) (2) (@), (iii) and (v)  (3) (ii) and (iii) (4) (i) and (iii)

The solution of 52 — 1 < 24 and bx +1 = —24 is
(1) (4,5) (2) (—5,—4) (3) (-5,5) 4) (—5,4)

The value of log 7512 is
(1) 16 (2) 18 3 9 (4 12

The value of log, b log, ¢ log, a is
1 2 2 1 3 3 4 4

The equation whose roots are numerically equal but opposite in sign to the roots of
3z —b5r—T=0is
(1) 322 -52—-7=0 (2) 322+452—-7=0 (3) 32°—524+7=0 4) 3224+z2-7

The number of real roots of (z + 3)* + (z + 5)* = 16 is

(1) 4 (2) 2 (3) 3 4) 0
The maximum value of 4sin” z + 3 cos® & + sin % + ms% is
{]]4+~\/§ {2}3+~\/§ (3)9 (44

37
fr<20 < ?T then \_ff‘2 + /2 + 2 cos 46 equals to

(1) —2cosd (2) —2sinf (3)2cost (4) 2sin#

cos1® 4+ cos2° +cos3° + ... +coslTO° =
(1)0 2y 1 (3)—1 (4) 89

Which of the following is not true?

3 1
(1)sinfl = —2 (2) cosfl = —1 (3) tanfl = 25 (4) secfl = 1

sinfA — B) sin(B — C) i sin(C' — A) |
cos Acos B cos 3 cos cos C'cos A .

(1) sinA4 + sinB + (2)1 (3)0 (4) cos A + cos B +
sin C cos C'

1
Sec60’ —tan 60"

Send Your Questions & Answer Keys to our email id - padasalai.net@gmail.com



www.Padasalai.Net

www.Padasalai.Net www.TrbTnpsc.com

B+2 B-2 1+3 1-3
2 2

(1) (2) 3) 4 ——
23 23
21.
tan15" —tan 75" .
5 5 is equal to
1+tan15 tan75
1+3 1+2/3 31
(1) ——= (2) ——F= 3) (4) 1
1-3 1-24/3 1-3
22.

The number of ways in which the following prize be given to a class of 30 boys first and second
in mathematics, first and second in physics, first in chemistry and first in English is

(1) 30% = 207 (2)30% x 20° (3) 307 x 20* (4) 30 x 295,

23.
The number of five digit telephone numbers having at least one of their digits repeated is
(1390000 (2) 10000 (3) 30240 (4) 69760,

24,

It 10 lines are drawn in a plane such that no two of them are parallel and no three are concurrent,
then the total number of point of intersection are

(1345 (2)40 (3101 (4 210
25.

{n—l:lcr +{n—l:| Cl:'r'—l:l is
(1y =t 2y ==l (3O (4O,
26.

The product of first » odd natural numbers equals
(D*Ch x™ Pn (2)(3)" x "Co X" Pn 3)(3)" % Cox™ P, (47C, x" P,
27.

The number of diagonals that can be drawn by joining the vertices of an octagon is

(1) 28 (2) 458 (3)20 i4) 24
28.
If "Cio = ™C, for all possible r, then a value of n is
(1) 10 2y 21 (3) 19 (4) 20.
29.
The HM of two positive numbers whose AM and GM are 16, B respectively is
(1) 10 2) 6 3) 5 4) 4.
30.
The n** term of the sequence 1,2,4,7.11,--- is
() n*+3n°+2n (2) n*—3n%>+3n (3) 2tlndd (4) niope2
31.
If a. 8. bare in AP, a. 4. b are in GP, and if a. x. b are in HP then x is
(1 2 2y 1 (3) 4 4) 16.
32.
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33.

34.

35.

36.

37.

38.

39.

40.

41.

42,

43,

44,

If[1+-3:'2}2[_1+1'}”=a[]+aj;r+a-gr3+---+J"”+"andifag,aj.agareinARthennis
(1y 1 2y 2 3y 3 (4) 4.

The first term of a G.P. is 1. The sum of third and fifth termis is 90, Find the conumnon ratio of the
[ o

12 (2)10 (313 4) -3

The third term of a G.P. is 3, the product of its first five terms is
(1) 25 (21625 (313125 i4) 623 = 25

If one of the lines given by 6z — ry + 4ey® =0is 3z + 4y = 0., then ¢ equals to
(1) -3 (2) -1 (3)3 (4)1

The y-intercept of the straight line passing through (1,3) and perpendicular to 2z — 3y + 1 = 0 is

3 9 2 2
= 2y = 3y = =
l[lfl_2 [}2 (}3 (4}9

If the equation of the base opposite to the vertex (2, 3) of an equilateral triangle is = 4+ v = 2, then
the length of a side is

ORVE @ 6 (3) V6 4) 3v2
The coordinates of the four vertices of a quadrilateral are (—2,4), (—1.2), (1.2) and (2.4) taken in
order.The equation of the line passing through the vertex (—1,2) and dividing the quadrilateral in
the equal areas is
(1) z=+1=0 2) z+y=1 3 z+y+3=0 4 z—y=3
The Value of “m” for which the point (2,3) lies on the line 2x-my+11=0 is
1)-5 2) O 3) 3 4) 5
The slope of a line is -1, then the angle of inclination is

1) 135° 2) 120° 3) 180°  4) 150

The point of intersection of x +y =3 andx—-y=11is

If 4 and B are two matrices such that 4 + B and 4B are both defined. then
(1) A and B are two matrices not necessarily of same order

(2) A and B are square matrices of same order

(3) MNumber of columns of 4 is equal to the number of rows of B

(4) A=B.

If 4 and B are symmetric matrices of order 7. where (4 # B). then

(1) A+ Bisskew-symmetric (2) A+ Bissymmetric
(3) A4+ Bis a diagonal matrix (4) A+ Bisazero matrix
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o
If the square of the matrix [ ] is the unit matrix of order 2. then . and ¥ should
satisfy the relation. AR

() 1+a +By=0 ) 1-a —By=0
(3)1-a +By=0 @ 1+a” —By=0
45,
3 - i
It A+1= |:4 1 } then (A+I)(A4—1T) is equal to
1 -5 -4 @) -5 4 3) 5 4 @ -5 -4
8 -9 -8 9 18 9 -8 -9
X -6 -1
46. The factor of the determinant |2 -3x x-3|is
-3 2x X+2
(i) x+2 (i) x-3 (iii) x-2 (iv) x+3
47.

If the projection of 5.;—}—3;{’ on the vector i+3 j+,lﬁ';' is same as the projection of

i+3j + Ak on 5i —j—3f¢n’. then A is equal to

(1)+4 (2)+3 (3)+5 (4) +1
48.
If G and b having same magnitude and angle between them is 60° and their scalar product
is L then | & | is
2
(2 (2)3 (3)7 (41
49.
If 7. b.7 are the position vectors of three collinear points. then which of the following is
true?
()@a=b+¢ (2) 2 =b+7 (3)b=7C+a (4) 4G +b +C =0
50.
The value of AB+ BC +DA+CD is
(1) 4D (2) CA4 (3) 0 (4) —4D
51.

A vector makes equal angle with the positive direction of the coordinate axes. Then each
angle is equal to

a1 a2 ol L ol 2
(1) cos [:) (2) cos [3} (3) cos (\EJ (4) cos {\EJ

52.
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- T - oo - ~. T - .
If a=i+2j+2k.|b|=5 and the angle between a and & is —. then the area of the triangle
-~ . - -"
formed by these two vectors as two sides. 1s

7 15 3 17
1) — 2) — 3) 2 4) —
(1 n ( 1 (3) 1 4 1
53.
X~ +3x+3
lim| — 18
ol oyt +x+3
(1) &* (2) & (3) & )1
54.
tim| x =
(132 (2)3 (3) does not exist (4)0
55.
li sin c¢ — COS cx is
£ ”314 L I
4 1
L2 @ —= 3)1 2
-
56. The value of lim is
x>l x -1
1) 3 2) 1 3) 0 4) o
57. The positive integer n so that Iirr21 A _z =32 is
X— X_
1) 4 2) 5 3) 2 4) 2
58.
3 : 2x—3] .
At x == the function flx)= 123 1S
2 2x—3
(1) continuous (2) discontinuous (3) differentiable (4) non-zero
59.

. A=] X ) .
Let a function fbe defined by f(x)= 27 forx#0 and f(0)=2. Then fis
.
(1) continuous nowhere (2) continuous everywhere

(3) continuous for all x exceptx =1 (4) continuous for all x exceptx =0

60. The inequality x°—7x+6 >0 the value of x lies
1) out side of (1,6) 2) inside of (1,6) 3)outside of [1,6] 4) out side of [1,6]

[x—4
, for 4
61. The left limit of f(x) = J x—a' 'R l
[O , for x= 4J
1)0 2) 1 3) -1 4) None

62.
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If v=f(x"+2)and f'(3)=5. then (;—1 atx=11s

X
(1)5 (2) 25 (3) 15 4) 10
63.
If v=mx+c¢and f(0)= f'(0)=1. then f(2) is
(1)1 (2) 2 (3)3 4) -3
64.
If x=asin® and v =bcos H. then 2': is
dx
(1) i:,sef:2 8 2) fésecz & (3) fi, sec’ @ (4) — bi sec” @
b~ a a” a”
65.
x—5 it x=<1
If f(x)=44x" -9 if 1< x <2 . then the right hand derivative of flx) at x =2 is
3x+4 it x=2
(1o @2 (33 @4
66.

If J. f(x)dx=g(x)+c. then | f(x)g’(x)dx

(D) J(f () dx

@) [F(gde (3) [ f(x)g(x)dx @ J(g(x)dx

67.
S anis
sin2x
(1) ~/tanx +¢ (2) 2~/tanx +¢ (3) %-q'ta_nx +c (4)% tan x +c¢
68.
J.Eh’“jdx is
3(23 x+5 ) Ixss Ix+5 Ix+5
1) —+ 2y ————+c¢ (3 +c gl +c
M log2 2 21log(3x +5) 3) Jlog3 ) 3102
69.
J. l_xm{r is
14 x

(1) vf1—x" +sin " x+c

(2) sin 'x—+1—x" +¢

(3) lc:-g|x+«}r17x2 |—\.I"1—x2 +c

70.

x
J..ﬁ.'le? dx 1s
X

(1) xle? —4x

|=

x

]

—8e? +c¢

(4) V1—x* +log|x++1—x" |+¢

x

x
)

(2) 2xe?

e —8xe? —16e2 +¢
(3) 2x"e? —8xe? +16e2 +¢ (4) E_Xe e e
2 4 8
71.
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[ -2 2
Isin” xdr =
sin” x . cos ¥ - 1| sin2x |
(1} 3 + (2 — > +rC I:J:I?_‘l— 5 +c {4}5[.‘{+5111_.‘{]+E'
72.

A. B. and C try to hit a target simultaneously but independently. Their respective probabilities
of hitting the target are‘—;r > 5 g . The probability that the target is hit by 4 or B but not by C is
21 7
1y — 2 3 4
(1) P (2) 5 (3) o (4)
73.

9

7

[%]

A letter is taken at random from the letters of the word *ASSISTANT ™ and another letter is
taken at random from the letters of the word *STATISTICS’. The probability that the selected
letters are the same is

7 17 2
(1) e (2) 50 (3) —

19
4 [—
oG (4
74.

90

. 1 . 1 1
If X and ¥ be two events such that P(X/Y)=—, P(Y/X)=— and P(X nY¥)=—. then
P(X UY)is 2 3 6

M 3

75.

@ = 3) < @ 3

There are three events .4, B and C of which one and only one can happen. If the odds are 7 to
4 against 4 and 5 to 3 against B. then odds against C is

(1) 23: 65 (2) 65: 23 (3)23: 88

(4) 88:23
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MODEL PAPER 5

STD XI MAX MARKS 75
ANSWER ALL THE QUESTIONS
1.
If the function f : [-3, 3] — S defined by f(z) = z* is onto, then 5 is
(1 [-9.9] 2y R’ (3) [-3.3] (4) [0.9]
2.
The number of constant functions from a set containing m elements to a set containing n elements
is
(1) mn (2) m (3) n (4) m+n
3.
Let X = {1,234} and R = {(1,1),(1,2),(1,3),(2,2),(3,3).(2,1),(3,1).(1,4),(4,1)}. Then
His
(1) reflexive (2) symmetric (3) transitive (4) equivalence
4,
Identify the correct statements
(i) the domain of circular functions are always R.
(ii) The range of tangent tfunction is R.
(iii) The range of cosine function is same as the range of sine function.
(iv) The domain of cotangent function is R — {k;r}
(1) all (2) (i) and (iii) (3) (i), (iii) and (v)  (4) (iii) and @v)
5.
The true statements of the following are
(i) The composition of function f-g and the product of functions fz are same.
(ii) For the composition of functions f g, the co-domain of g must be the domain of 1.
(iii) If fog, gof existthen fog=go f.
(iv) If the function f and g are having same domain and co-domain then fg = gf .
(1) all (2) (i), (i) and (iv)  (3) (iii) and (iv) (@) (i) and (iv)
6.
A survey shows that 70% of the Indian like mango wheres 82% like apple. If
x% of Indian like both mango and apples then
(a) x =52 (b) 52=x=70 (c)x=70 (d) 70 =x = 82
7.
Let B be a reflexive relation of a finite set A having n elements and let there
be m ordered pairs in K. Then
(a)m:=n (b)m=n (chm=n (d) None of these
8.
If a and b are the real roots of the equation 2> — kz + ¢ = 0, then the distance between the points
(a,0) and (b,0) is
1) Vk2—4c 2) V42 —¢ 3) Vie—k? 4) k-8c
9.
If 8 and 2 are the roots of z? + ax + ¢ = 0 and 3, 3 are the roots of 22 + dx + b = 0, then the roots
of the equation z* + ax + b = 0 are
(1) 1,2 2 -1,1 3) 9.1 4 -1,2
10.
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11.

12,

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

The number of solutions of z° + |z — 1| = 1 s

(1 1 2 0 3 2 4 3

If 3 is the logarithm of 343, then the base is
(s @2 7 (3) 6 4) 9

The solution set of the following inequality |z — 1| > |z — 3| is
(1) [0,2] (2) (2,00) (3) (0,2) 4 (—o0,2)

If cos 28° + sin 28° = k*, then cos 177 is equal to

3 i K 5
() — (2) —— (3) £— @) ———
Ve V2 V2 R~
(1 "‘f'U""E) (1 —0—‘:'0‘-',3—?'_) (1 —0—(‘0‘55—?r) (1 —0—(‘0‘:E) _
(]]g (2)§ (3}ﬁ (4)\/_/5

tan 140° — tan 1307 B
1 + tan 140° tan 130°

If tan 40° = A, then

1— A2 1+ A2 1+ A2 1— A2
2) (3) ——— (4}T

1 A A 20

The number of solutions of
cosx+cos2x+cosdx=0, x=[0, 27]is

(a) 4 (b) 5 (c) 6 (d) 7

If K [sin18? + cos36") = 5 then K =

@245 (0 é (c) 4 (d) 5

If gin? y—cos™ x<0 then

(a) —lixc:% (b) —1<x<0 (c) —151{% (d) —151-::1."'—%

If cos pfl + cos gt/ = 0 and if p # g, then # is equal to (n is any integer)

m(3n +1) m(2n + 1) T(n+1) m(n +2)
(1) — 2) ——— [3)"‘— (4) I{ a
p—q pEq pPEq p+q

If pCosecO= Cot45° then p is
(1) Cos4s° (2) tan 45° (3) sin 45° (4) sin0

The value of Sin 54° is

e e G
4 4 4 4

(1)

The number of 5 digit numbers all digits of which are odd is

2o (o (300 (F02o.
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

Number of sides of a polygon having 44 diagonals is ------

(4 (24 (311 422

The number of ways of choosing 5 cards out of a deck of 52 cards which include at least one king
is

(1)52C ()BCy (320, +8 0y ()20, =B L.

It "y, *Cy. " are in AP the value of n can be

(114 (211 (39 (45

The number of 4 digit numbers, that can be formed by the digits 3, 4, 5, 6,7, 8, 0 and no digit is
being repeated, is
(1) 720 (2) 840 (3) 280 (4) 360

20 persons are invited for a party. The number of ways in which they and the host can be seated
at a circular table if two particular persons be seated on either side of the host is equal to

(1)18! 21 (2) 18! 3! (3)19121 (42002

The remainder when 2 -7n+4 1s divided by 491s .

(@0 (b) 1 (c) 4 (d) 5

The HM of two positive numbers whose AM and GM are 16, 8 respectively is

(1) 10 (2) 6 (3) 5 4y 4.
Ea4,hmemAPmd&2,bmemGPihmi=1,%arein
(A)G P (B)A P (CHP D)AGP

12

The coefficient of z%y'? in the expansion of (2z + 3y)*" is

(I 0 (2) 28312 (3) 2%312 +2123% (4) 2Cg 28312
The AM. bebwveen two numbers is 3 and the GM. is 4. Then H.M. betwreen them is

1 3% @1 (3)9 @13
2

If A, G, H are respectively arithmetic mean, geometric mean and harmeonic mean then

1yA>=G=H 1A=<G=H (MA<=G<H 4A=G<H

The intercepts of the perpendicular bisector of the line segment joining (1. 2) and (3.4) with
coordinate axes are

(1) 5, —5 (2) 5.5 (3) 5.3 (4) 5, —4
35.
. . x? oyt .
If the point (8.—5) lies on the locus 16 25 — k., then the value of & is
o ]
(1) 0 2) 1 (3) 2 (4) 3
36.
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The point on the line 2z — 3y = 5 is equidistance from (1,2) and (3,4) is

(1 (7.3) 2) (4,1) (3) (1,-1) 4) (—2.3)
37.
If the two straight lines = + (2k — 7)y + 3 = 0 and 3kx + 9y — 5 = 0 are perpendicular then the
value of £ is .
(1) k=3 @ k=1 G) k=2 @ k=3
- 3 . 3 2
38.
1 0 0O
Which one of the following is not true about the matrix (0 0 0] 7
O 0o 5
(1) a scalar matrix {2) a diagonal matrix
(3) an upper triangular matrix {4) a lower triangular matrix
39.
4 4k k
Let A=|0 k 4k| If det(A*)=16 then |k| is ..
o 0 4
@1 ®) § ()4 (d) 4
40.
If 4 is a square matrix. then which of the following is not symmetric?
(1) A+ 4" (2) A4" (3) A" 4 (4) A— 4"
41.
2Za x W
abe . .
VIE |26 x, = —*0. then the area of the triangle whose vertices are
2c x; g -
NN Y2 M AT I IE
a a b b c ¢
(1) i @) %abc 3) % (@) %nbc
42,
If x.x,.x; as well as 1. 1,. v, are in geometric progression with the same commeon ratio.
then the points (x;. 37). (x;.3,). (X;.3;) are
(1) wertices of an equilateral triangle
(2) wertices of a right angled triangle
(3) wertices of a right angled isosceles triangle
(4) collinear
43.
) i ‘ i 1 3 1 1 ,
The matrix 4 satisfying the equation A= s
0 1 0 -1
(1) 1 4 2) 1 —4 (3) 1 4 @) 1 —4
-1 0 oo o -1 11
44.
(b + C}2 a_.'Z ai
b? (c+a)* b? =k(abc)(a +b+c). then k=
¢ e’ (a +b)*
@1®-1 @©-2 @2
45.
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3x—8 3 3
3 3x-8 3 |=0, thenm x=__.
3 3 3x-8
2
@3 ®3¥eitoid
46.
The unit vector parallel to the resultant of the vectors 7 + j — kFandi-2 i+ ks
[ —j+k 2+ 2i—j+k 2]
= ) (3) 2=LTE (4
75 75 N 75
47.
If ABCD is a parallelogram, then AB+ AD+CB+CD is equal to
(1) 2(AB + AD) (2) 44C (3) 4BD 4) 0
48.
If A +24]+2Ak is a unit vector, then the value of A is
1 1 1 1
1) — 2) — 3) — 4) —
(1) 3 ) 1 3) 5 (4) >
49.
If |G |=13.15 =5 and @-5 = 60° then E:Fx5| is
(1y15 (2) 35 (3) 45 (4) 25
50.
if 21+ 4] — 5k and T+ 2] + 3k is two different sides of rhombus, find the lengh of diagonal = ........
1. 7, V&0 2. 6,59 3. 5,465 4. 8, 15
51.

i,band ¢ areunitvectors, 3+ b+ E=0D thena-b+b-¢4+ c-@a=......
3

@ 1 () 3 (&) -  (d)nonofthese.

57.

if the difference of two unit vectars is unit then angle Betwean two vestors = ..............

@ I ®» I @ 3 @ =

4+

58.

aforce F = (2,1, —1) act on a partical and displaces it from the point A(2, —1,0) to the
point B(2,1, 0) then work done by force isequalto ...........

@ 2 @& 4 (¢) 6
59.

it |@j=3.5then|@xi]*+j@xJP+@xkP=n.....

(@) 7 (b) 135 () 185  (d) 245
52,
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53.

54.

55.

56.

57.

58.

59.

60.

61.

62.

siné&

(D1 2)-1 (3)0 )2

1]
If f(x)= x(—l)L-I , x <0. then the value of 11'11(} f(x) is equal to

1H-1 20 (3)2 ()4
If lincl. ?111 i;n- =4 ., then the value of p 1s

*=0 tan 3x
(1)6 (2)9 (3) 12 4) 4

The value of lim s

a0 ‘JF
(D1 (2)—1 (3)0 (4) ~

Let fbe a continuous function on [2. 5]. If ftakes only rational values for all x and f(3)=12 .
then f(4.5) is equal to

S+ f(4.5) - . fA5)-73)
25 N (212 (3)17.5 4 5

d (2 . o'] :
— | —sinx 15
dx| T

(D

()

T 1 b 2
cos x° 2y —cosx® 3y —cosx”® 4y —cosx®
180 @ 55¢ ) 50 @ Ze

. dv T
If v =cos(sinx?). then — atx = - is

dx

(1) -2 (2) 2 (3) —z\g (4)0

1—+#° 2¢ dv
x= —. ¥ = 5 then — is
14+¢ 1+1¢ ax

an-< 2 L (3) —= @ =
x x v
dp

If pv =81, then — atv=9 is
dv

(1)1 2)—1 (3)2 @) —2

2
xt+cos’ x 5 )
Iicosec xdx is

2 +1
(1) cotx+sin x+c¢ (2) —cotx+tan ' x+c

(3) —tanx+cot ' x+c (4) —cotx —tan x+c
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l- se:: x dx
T tan" x—1
. 1 —tan x 1+ tan:
(1;} 2 l(}g I - +c (2) [(]g &
+tan x 1—tan x
. llog‘tanx+l ‘e ’ 11 tanx—1
3y — S EEE— —log|———|+¢
()2 tanx —1 ()2 gtanx—i—l

J.sinv’n._'fi\' 18
(1) 2(—Jm_'cos\f;+sin«f1_')+c (2) Z(ﬁf;cosxh_'—sin\f;]+c
(3) 2(—\,"'1_'5i11~"?—c05\f'1_')+c (4) 2(—\1{;5i11x1‘rn._'+c05~4’1_')+c

I|:.::i

W2 v

1{x-1 [x—-1F

P oxr— -1 7y X

(1) 2|_. 1 ‘ c (2) x—2loglx+1)+c (3 5

loglx+1)+c (4 x+2loglx+1)+c

65.
dx

‘I [I+3_'m B

(a) 2tan x+2 ) 2tan V2 +3 (@) 2tan’x (d) 2tan VP +2
66.

+C

o
FT“'I P ; -
(@) 2 log (b) 2" log; (© 2% log3 (@ 2" log;
67.
fcosec X dr=
(1) log t?l.ll%—f‘ (2) —loglcosecy +cotx )+
(3) loglcosecx—cotx)+c (4) all of them
68.
1_ dx =
W 3+4x
(1) %¢3—4.T+f 2) %10g¢3—4.1‘+( (3) 243 +4x+c (4) —%v'3—4.'l.'+f
69.
ftanx =
.
(1) logeosx+c¢ (2) logsecx+c¢ (3) sec’ x+¢ i4) anx. .
70.

Four persons are selected at random from a group of 3 men. 2 women and 4 children. The
probability that exactly two of them are children is

3 10 1 . 10
(DZ (2) >3 (3) B (4) o1
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71.
Two items are chosen from a lot containing twelve items of which four are defective. then the
probability that at least one of the item is defective
19 17 23 13
1) — 2) — 3 4
()33 @ 33 ()%3 @ 33
72,
If two events 4 and B are independent such that P(4)=0.35 and P(4UwB)=0.6.
then P(B) is
5 1 4 7
1)y — 2 3 — 4) —
(\ 3 @ 3 G 3 @ 3
73.
When three dice are rolled, number of elementary events are
1) 2’ (2) 3 (3) 6° (4) 37
74.
Three coins are tossed. The probability of getting atleast two heads is
3 7 1 1
sl P — 3y = -
(1) 2 (2) 3 (3) g (4) 3
75.
Two events A and B are independent, then Pl4/B )=
1) Pl4) (2) PlA~B) (3) Pld)=P|E) (4) Ad)
: ' o : BB|
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